Practice Problems on %-Composition and Isotope Symbols

PSC 100
%-Composition of an element in a compound =  mass of element in the formula  x 100%

                                                                                        mass of the whole formula

Solved example:  K2CO3:

%K =              2(39.1)                     x100%  = 56/6% K
           2(39.1) + 1(12.01) + 3(16.00)

%C =                 1(12.01)                   x 100%  = 8.69% C

            2(39.1) + 1(12.01) + 3(16.00)

% O =                3(16.00)               x 100%  = 34.7% O

               2(39.1) + 1(12.0) + 3(16.0)

Other examples including answers:

1. Benzene  C6H6  7.69% Hydrogen   92.31% Carbon

2.  Aspirin  C9H8O7    47.4% C    3.51% H   49.1% O
More to try, but with the answers not provided:

3. Calcium phosphate Ca3(PO4)2.

4. Vitamin B6      C8H11NO3.

5. Ammonium nitrate    NH4NO3.

6. Uranium hexafluoride   UF6.

Isotope symbols practice problems:

How many protons, electrons and neutrons on the following atom?

201

      Hg


answer:  80 protons, 80 electrons, 121 neutrons.

What is the isotope symbol of the following ion?








54     +2

30 neutrons, 24 electrons, 26 neutrons     answer:   
     Fe








26
